e

AR

~

\/

|

\\‘\///
/

|

\/
VANEVAN

f

\

N/

|

\/

|

~
/A

\/

|

// \\ // \\

I

A
/ o\

N/

|

\/

\/
\

~7
A

\/

|

// \\ B // \\

f

A
/ o\

"V

/“I\

\/
AN

f

\/
A

~-
A

\

\/

\
\
/1
AN

I

16" - 24" O.C. Max
(depending on required PSF)

/ Panel Adhesive
/ Plywood Substrate - —

N
y
N |
N

N
U

N
N
N

/Water and Air Resistive Barrier 16" O.C.

| TN

N |
N |
N |

/ Foam Tape Y B —

/ SterraCore Panel

4

8" - 12" 0.C. Max —— =2
(depending on required PSF)
Foam Tape (1) Drip Cap Extrusion installed on
/ Foam Tape. 2" min. gap at 24"
#10 x 1" Wafer Head Screw O.C.
— Drip Cap Extrusion
Appropriate Sealant (2) Panel Adhesive applied 16"-24" O.C.

Horizontally and 16" O.C. Vertically.

(3) Foam Tape installed Vertically
in between Panel Adhesive.

L L L L

2" Nom.

l SterraCore Panel

<——F1" Nom.

Drip Cap Extrusion

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

SterraCore Base Detail

DWG. NO. DR DATE
KRK 4/1/2022

APP DATE

MATERIAL

REV.
NO.

DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE - we X




16" - 2_4" O.C. M_aX 8" - 12" 0.C. Max
(depending on required PSF) (depending on required PSF)

(1) J Molding Extrusion installed on - — - -
Continuous Foam Tape.
_ _ 16" O.C.
(2) Panel Adhesive applied 16"-24" O.C. /@
Horizontally and 16" O.C. Vertically. = = = = |

(3) Foam Tape installed Vertically in
between Panel Adhesive.

@\
A
| N
| N
N

N7 N N N NN
| | | | | |

A /I\ AA A
F fN SN

:::::::::::::::::::::::::::::::‘:::::::::::::::i?;:::::::
: 4 < // // /‘ \@
Panel Adhesive / Foam TapeJ /
Plywood Substrate /
Water and Air Resistive Barrier
Membrane Strip
SterraCore Panel % 2" 3y SterraCore Panel
Foam Tape TZH Nom. ‘j N _
#10 x 1" Wafer Head Screw ! RN Q) ATAS INZIIIEeitNoev:IS/:\‘ALI INC

J Molding _Extrusion j — \ | 6103958445

Appropriate Sealant N Ang le Trim RN 450.558.7210

Backer Rod and Sealant 7/16" Nom. "™SterraCore Starting Endwall Detail
| Allwgle Trim _ _ oW o vy~
Note: * denotes color side. Putyl Sealant Tape J Moldi N9 Extrusion "o o DESCRIPTION OF REVISION i ::'PS‘ZE B :2:5 X:X




16" - 24" O.C. Max
(depending on required PSF)

| N

(1) Termination J Molding Extrusion
installed on Continuous Foam Tape.

=

_ _ 16" O.C.
(2) Panel Adhesive applied 16"-24" O.C.

Horizontally and 16" O.C. Vertically.

v

(3) Foam Tape installed Vertically in
between Panel Adhesive.

| TN

=

N

N

N

N7 N N N N N
| | | | | |

A /I\ AA A
\ o/

L] / /
Panel Adhesive / Foam Tapej /
Plywood Substrate /
Water and Air Resistive Barrier
Membrane Strip
Foam Tape
SterraCore Panel

Appropriate Sealant /
Angle Trim
Butyl Sealant Tape

Termination J Molding Extrusion
#10 x 1" Wafer Head Screw
Appropriate Sealant

Note: * denotes color side.

Termination J Molding Extrusion

kZ" Nom.ﬂ
——p o

7/16" Nom.

8" - 12" 0.C. Max
(depending on required PSF)

| N

v

| N

—r

3/4"

X

Angle Trim

I

SterraCore Panel

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
\ : Mesa AZ

\> 480-558-7210

"™ SterraCore Ending Endwall Detail

DWG. NO. DR DATE
KRK 4/4/2022

APP DATE

REV.

NO DATE DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE X_X




/

|

N N

\/

/\

\
\

N, N,

\/

|

A

/”\

A

A\

A

A

A

A A
/\

A\

A

)

A\

A

\/

\/

\/

\/

N
y.

\/

\/

/‘ \
y.

\/

\/

\/

/‘ \
/

\
\
\
\

\

Continuous Foam Tape
#10 x 1" Wafer Head Screw
Inside Corner Extrusion
Appropriate Sealant
Appropriate Sealant
Continuous Panel Adhesive

Continuous Foam

SterraCore Panel

Water and Air Resistive Barrier

Plywood Substrate

Panel Adhesive / Foam Tape

SterraCore Panel

(1) Continuous Bead (1/4" Min, 3/8" Max)
of Panel Adhesive.

(2) Continuous Foam Tape

(3) Panel Adhesive applied 16"-24" O.C.
Horizontally and 16" O.C. Vertically.

(4) Foam Tape Installed Vertically in
between Panel Adhesive.

e

l Ak <&
R 1" NPt
7/16" ' &

Inside Corner Extrusion

( 3 3
C z
W\ O' PN, ~
b L 2 2
A
7 Z 2
o <
Q\'\.'fec"s ATAS INTERNATIONAL, INC
« O o Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE . . i
SterraCore Extrusion Inside Corner Detail
DWG. NO. DR KRK DATE 4/7/2022
APP DATE
MATERIAL
T\‘EOV DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




~—3" Max. —

N/

\ / \ /
\/ \/
/‘ \

/\

A
// /

\/

////
AN

A\

\/

AN

A

/
\/

/”\

A
/\
/

I Panel Adhesive / Foam Tape

()
il )

\Water and Air Resistive Barrier

z 1 2
N
T Plywood Substrate
kluﬁ (1) Panel Adhesive applied 24" O.C.
Horizontally and 16" O.C. Vertically.
ATAS INTERNATIONAL, INC
i (2) Foam Tape installed Vertically in 10 305 84S
IVAVAVAVAVAVAV 1 between Panel Adhesive. N ’ 48(';’_'2?8 _‘;2210
SterraCore Routed Inside Corner Detalil
SterraCore Panel Aluminum Angle " [ 42002
T\‘EOV DATE DESCRIPTION OF REVISION BY | APP - SH. SIZE B SCALE X:X




N — it
T~ Aol
—
N\
\\ - N
T Aol
. S
\ - %\\\ e
N il
e _ Aol
S i
— [}
(= i Plywood Substrat
e I wood Substrate
4 A"
~ | -
\ - S|
I Nl
NV o Aol
— |
, \ B - \\ ! /Panel Adhesive / Foam Tape
_ H H _——Water and Air Resistive Barrier
VAR Him
! | [
A / / 11 ||, SterraCore Panel @\ 2 2 z /( z
[\ Continuous Foam T 2 oY Z
\ / \ / | BT ?; 2? 7; %
r r gl #10 x 1" Wafer Head Screw
VAN VAN N 2 yA
T e il |, — Appropriate Fastener S Y e
*************************** K . . S / A
[ 4 — Outside Corner Extrusion o 2&\@@
\6‘ S
(1) Continuous Foam Tape &
= 3" Max TYP. 7/16" Nom.ﬂ . (2) Panel Adhesive applied 16"-24" O.C. /
Horizontally and 16" O.C. Vertically.
f (3) Foam Tape Installed Vertically in
1 1/4" Nom. between Panel Adhesive. ATAS INZIIIE;tNoev:ISA"\IAL’ INC
4 ‘ 610-395-8445
Mesa AZ
1 3/4" Nom. —j—— _ 480-558-7210
SterraCore Extrusion Outside Corner Detail
. . DWG. NO. DR KRK DATE 4/8/2022
SterraCore Panel Outside Corner Extrusion
T\‘EOV DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




‘ ~ i
\ _ N
~ | AR
e - Jmn
g i
\ Nk
~ |
Ve - i
_ i
\ - NN
~ | KERER
Y 100
— ||
‘\ Nl
~ o
e -~ 1)1
_
\ . N
- \ |
Yo mn
/ // [N
I [RRRR
N
\\ - Voo
RN
RN
RN
RN L
RN
[RREN
o i
/ N oA
i
L L [REEN
\ /\ / R
RN
RN
RN
\ o/ i
[REEN
RN
)% \/ i
I \‘ RN
A\ N\ e
N NV N cLL
Mk
777777777777; 7777777777 J 777777777777777777 Ll

iy

Plywood Substrate
/ y

Panel Adhesive / Foam Tape
/ p

SterraCore Panel
/

. Aluminum Angle
/ g
Appropriate Sealant
/ pprop

SterraCore Panel

Water and Air Resistive Barrier
/

X
1

1

Aluminum Angle

@)
O]

.

.

(2%

7Y,

(1) Panel Adhesive applied 16"-24" O.C.

Horizontally and 16" O.C. Vertically.

(2) Foam Tape Installed Vertically in

between Panel Adhesive.

1Y,

=N

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

DWG. NO. DR DATE
KRK 4/8/2022
APP DATE
MATERIAL
REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_ X




16" - 24" O.C. Max 8" - 12" 0.C. Max
(depending on required PSF) (depending on required PSF)
fz z z z
16" O.C.
(1) Reveal H Molding Extrusion J—Z Z Z Z
installed on Vertical Foam Tape.
(2) Panel Adhesive applied 16"-24"
0.C. Horizontally and 16" O.C. || || ||
Vertically. @—.7 7 7 7
(3) Foam Tape installed Vertically L
in between Panel Adhesive. @—> @/

\ A

/I\ /I\ /I\
AR \
/ YAV

I I

/

oLk
\ [

| |

A

I |

A

Panel Adhesive / Foam Tapej

Plywood Substratej
Water and Air Resistive Barrier

SterraCore Panel

Appropriate Sealant / /

#10 x 1" Wafer Head Screw//

Foam Tape

Reveal H Molding Extrusion

AVAVAVAVAVAVAVA

SterraCore Panel

kz 1/2" Nom. ﬂ

o

1 3/16" Nom. ==

H Molding Extrusion

7/16" Nom.

h?' Nom. ﬁ

———

mis

111/16" Nom. ——

3/8" Nom.

7/16" Nom.

Reveal H Molding Extrusion

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

NO.

DATE

DESCRIPTION OF REVISION

E . . .
%TerraCore Horizontal Transition Detail
DWG. NO. DR DATE
KRK 4/12/2022
APP DATE
MATERIAL
BY | APP SH. SIZE B SCALE X_X




~~
“I“

I
A

\/

I

/ \

NS NS

\I/

I

/ \

\/

N o~

I

A

I

/ \

\/

N7 N

I

/\

|

/\

\/

NS N

“I“

\/

I

/\

I

N, N/
A\

\I/

N/

A\

A

A\

\

#10 x 1" Wafer Head Screw

~_—Foam Te.ape
| Appropriate Sealant

__—H Molding Extrusion

__—SterraCore Panel

— Foam Tape

__— Water and Air Resistive Barrier

__—Plywood Substrate

o Panel Adhesive

16" - 24" O.C. Max
(depending on required PSF)

NO—f

NO—

8" - 12" O.C. Max
(depending on required PSF)

- -
| |

* * ez

16" O.C.

[] [] [] []

(1) H Molding Extrusion installed on

Horizontal Foam Tape 2" min. gap at

24" O.C.

(2) Panel Adhesive applied 16"-24"

O.C. Horizontally and 16" O.C.

Vertically.

(3) Foam Tape installed Vertically in

between Panel Adhesive. . 7/16" Nom.

3" Nom.

L

111/16" Nom.

a
]

S

-—3/8" Nom.

Reveal H Molding Extrusion

SterraCore Panel

— =——7/16" Nom

2 1/2" Nom.

cJ

] 1 3/16" Nom.

f#

H Molding Extrusion

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

\ \ : Mesa AZ
L AD 480-558-7210

"SterraCore Vertical Transition Detail

DWG. NO. DR KRK DATE4/12/2022

APP DATE

MATERIAL

REV.
NO.

DATE

DESCRIPTION OF REVISION BY

APP SH. SIZE B SCALE X:X




N~

N

\

N\

~ N

|

\/

\/

N N

\/

/\

|

A\

]I]

|

/ \

I]

/\

|

/\

]I]

/\

]I]

/\

\

A

/

\

/

\

\

/

\

/

\

/

\/

\/

\/

|

\/

|

/

|

\w

/

|

\w

\/

|

1 | |
PANYAN

|

8" - 12" 0.C. Max

(depending on required PSF)

Coping System
(Rapid-Lok SL Coping shown)

#10 x 1" Wafer Head Screw
Appropriate Sealant

Termination J Molding Extrusion
Foam Tape

SterraCore Panel

Foam Tape
/ p

/Water and Air Resistive Barrier

/ Plywood Substrate

— Panel Adhesive

| N

\
N

\
ﬂ

K
)

16" - 24" O.C. Max
(depending on required PSF)

16" O.C.

| N

| N

|

| N

| N

N

(1) Termination J Molding Extrusion installed
on Horizontal Foam Tape 2" min. gap at 24"

O.C.

(2) Panel Adhesive applied 16"-24" O.C.
Horizontally and 16" O.C. Vertically.

(3) Foam Tape installed Vertically in between

Panel Adhesive.

AVAVAVAVAVAVAVA

SterraCore Panel

7/16" Nom. —»

1 5

2" Nom.

1

Termination J Molding Extrusion

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

\ : Mesa AZ

> 480-558-7210

NO.

TITLE .
SterraCore Top of Wall Detail
DWG. NO. R ok P ey12/2022
APP DATE
MATERTAL
REV.L paTe DESCRIPTION OF REVISION BY | APP SHSIZE B |SAE wx




NN N N N N

16" - 24" O0.C. Max

(depending on required PSF)

o Panel Adhesive

8" - 12" O.C. Max
(depending on required PSF)

o Plywood Substrate

16" O.C.

N
N
N |
N

— Foam Tape

/Water and Air Resistive Barrier

SterraCore Panel

o Membrane Strip
o Foam Tape

] /#10 x 1" Wafer Head Screw

J Molding Extrusion

q
1

AP S
/ dCKer Rod and >ealan

Base Trim

Backer Rod and Sealant

Angle Trim with Return

Window

| |
rel
(1) J Molding Extrusion installed on Horizontal

Foam Tape 2" min. gap at 24" O.C.

(2) Panel Adhesive applied 16"-24" O.C.
Horizontally and 16" O.C. Vertically.

(3) Foam Tape installed Vertically in between
Panel Adhesive.

SterraCore Panel

5/8" Nom.
i

— P7/16" Nom.

J Molding Extrusion

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

SterraCore Head Detail

DWG. NO.

DR DATE
KRK 4/12/2022
APP DATE

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE X_X




(1) Termination J Molding Extrusion installed on
Vertical Foam Tape.

(2) Panel Adhesive applied 16"-24" O.C.
Horizontally and 16" O.C. Vertically.

(3) Foam Tape installed Vertically in between
Panel Adhesive.

16" - 24" O.C. Max
(depending on required PSF)

TN N N N NS N
(D (R G (R (R (R

"\ /“\ /‘\ /“\ /‘\ /“\ \

16" O.C.
\\ ///,
|
/\ i
— .,/ /S S i

2 777 / f

Water and Air Resistive Barrier
SterraCore Panel

Membrane Strip
Foam Tape
Termination J Molding Extrusion
Appropriate Sealant

#10 x 1" Wafer Head Screw
Appropriate Sealant

4
Panel Adhesive / Foam Tapej Plywood Substrate / / /

N

Angle Trim

\ Window

Angle Trim with Return
Backer Rod and Sealant

8" - 12" O.C. Max
(depending on required PSF)

| [N

| [N

go

SterraCore Panel

11/16" Nom. —=—=

kz" Nom.ﬂ o

- -

7/16" Nom.

Termination J Molding Extrusion

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE .
SterraCore Jamb Detail
DWG. NO. DR KRK DATE4/12/2022
APP DATE
MATERIAL
REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X:X




8" - 12" 0.C. Max

(depending on required PSF)

/ Window

i

W / Backer Rod and Sealant
Window Sill Trim
)

ST N N N N N Y NN

A A A A A A A AN

#10 x 1" Wafer Head Screw
/Appro.pna.te Sealant. |
/Termlnatlon J Molding Extrusion

: — Foam Tape
SterraCore Panel
/

/Water and Air Resistive Barrier

Foam Tape
/ p

Plywood Substrate
/

Panel Adhesive
/

z z z z
16" 0.C.

16" - 24" O.C. Max
(depending on required PSF)

(1) Termination J Molding Extrusion installed on
Horizontal Foam Tape 2" min. gap at 24" O.C.

(2) Panel Adhesive applied 16"-24" O.C.
Horizontally and 16" O.C. Vertically.

(3) Foam Tape installed Vertically in between
Panel Adhesive.

SterraCore Panel

ﬂ

5/8" Igom.

ﬁ7/16" Nom.

]7
9

Termination J Molding Extrusion

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

\ 480-558-7210

SterraCore Window Sill Detail

DWG. NO.

DR DATE
KRK 4/12/2022

APP DATE

MATERIAL

REV.

NO DATE DESCRIPTION OF REVISION

BY | APP

SH. SIZE B SCALE X_X






